

Marathwada Shikshan Prasarak Mandal's

Sunderrao Solanke Mahavidyalaya, Majalgaon



INTERNAL QUALITY ASSURANCE CELL

Criterion-4: Infrastructure and Learning Resources

4.1. Physical Facilities

4.1.1 Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga centre etc. in the institution

Classrooms

Chart of Classroom

Classrooms										
Sr. No.	Name of the Building	Room No.	Room Name	Numbers	Length (in Fit)	Width (in Fit)	Area (in Sq. Ft.)			
			Arts Building	,	rit)	rit)				
1	Arts Building Ground Floor	18	Class Room	1	24	22	528			
2	Arts Building Ground Floor	19	Class Room	1	24	34	816			
3	Arts Building Ground Floor	20	Class Room	1	24	45.5	1092			
4	Arts Building Ground Floor	21	Class Room	1	24	22.5	540			
5	Arts Building Ground Floor	22	Class Room	1	24	22.5	540			
6	Arts Building Ground Floor	24	Class Room	1	24	38.5	924			
7	Arts Building Ground Floor	25	Class Room	1	24	38.5	924			
8	Arts Building Ground Floor	26	Class Room	1	24	38.5	924			
9	Arts Building Ground Floor	27	Class Room	1	24	38.5	924			
10	Arts Building Ground Floor	29	Class Room	1	24	25.5	612			
11	Arts Building First Floor	45	Class Room	1	22	21	462			
12	Arts Building First Floor	44	ICT Class Room	1	24	34	816			
13	Arts Building First Floor	43	Class Room	1	24	21	504			
14	Arts Building First Floor	42	Class Room	1	24	10	240			
15	Arts Building First Floor	40	Class Room	1	24	10	240			
16	Arts Building First Floor	36	Class Room	1	24	25	600			
17	Arts Building First Floor	35	Class Room	1	24	25	600			
18	Arts Building First Floor	34	Class Room	1	24	25	600			
19	Arts Building First Floor	33	Class Room	1	24	12	300			
20	Arts Building First Floor	32	Class Room	1	24	12	300			
21	Arts Building First Floor	31	Class Room	1	24	16.5	396			

	Commerce Building								
1	Commerce Building	76	Class Room	1	24.5	25.5	625		
2	Commerce Building	78	ICT/Smart Class Room	1	24.5	25	612		
3	Commerce Building	79	Class Room	1	24.5	11.5	282		
4	Commerce Building	80	Class Room	1	24.5	25	613		
5	Commerce Building	81	Class Room	1	24.5	25	613		
6	Commerce Building	82	Class Room	1	24.5	25	613		
	Science Building								
1	Science Building First Floor	-	ICT Class Room/ Herbarium	1	19.35	29.22	565		
2	Science Building First Floor	71	Smart Class Room	1	19.50	36.06	703.17		
3	Science Building First Floor	72	Class Room	1	19.45	23.19	451.04		
4	Science Building First Floor	73	Class Room	1	19.50	36.06	703.17		

A

Coordinator Internal Quality Assurance Cell (IQAC) Sunderrao Solanke Mahavidyalaya, Majalgaon, Dist.Beed (MS)



PRINCIPAL Sunderrao Solanke Mahavidyalya Majalgaon Dist. Beed (M.S.)



Marathwada Shikshan Prasarak Mandal's

Sunderrao Solanke Mahavidyalaya, Majalgaon



INTERNAL QUALITY ASSURANCE CELL

Criterion-4: Infrastructure and Learning Resources

4.1. Physical Facilities

4.1.1 Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga centre etc. in the institution

Photographs of Classrooms



Hall No. 45





Hall No. 43





Hall No. 35





Hall No. 33



Hall No. 32.

Hall NO 31 Date 19-03 2022 H.S.C. Airad Exin. Sub- Conomics Scotno. RA10714-R10806 = 25 Latitude: 19.161275 Longitude: 76.204206 Elevation: 442.59±24 m Accuracy: 38.6 m Time: 05-12-2022 12:29 Note: hall no 31class room ., sunderrao solanke mahaidyalaya, majalgaon

Hall No. 31



Hall No. 18



Hall No. 19





Hall No 25





Hall No 27





Hall No. 76





Hall No 80





Hall No 82



Coordinator Internal Quality Assurance Cell (IQAC) Sunderrao Solanke Mahavidyalaya, Majalgaon, Dist Beed (MS)



PRINCIPAL Sunderrao Solanke Mahavidyalya Majalgaon Dist. Beed (M.S.)